TECT Ha NMPOCTOTY

pa3noXeHne Ha

B 2003 rogy AnoHckune
MaTeMaTUKN 3Ta
3agada asnqaetca P-

JOCTaTO4YHO MHOXUTEJN
NPOBEPATb AENUTENN & (CbaKTOpVI3aLI,VIFI)

3apaden
P-3agayu NP-3agauu
y=x"2 y=2"x
x=1000 x=1000

y=100072=1000000=10"6

y=271000=(2*10)*100=
=(1024)*00=(10"3)*00=
=104300

P=?=NP

[0 KOPHS KBAApaTHOro
RSA

1)x+5=2 (Bcerga)

2)x"2+5x-6=0 (1000 net Ha3an)
3)x"3+5x"2+5%x-6=0 (500 net Ha3an)
AxN4+7xN3+5xM2+5x-6=0 (450 net Ha3an)
5)popmyn HeT (200 net Hasan)
[anya (21 roa) Teopusa rpynn

Q “3MEHeHne Temneparypsbl
Q P MarHuTHbIE Nons

RS s yrnepoa-> rpadpeH



